—— A
N = 0] &F AF S & AN A
20168 = 20l A LEHSH AFS =X D
A AMIEX
HE: RO|EMESZ(ASSN/IIZNEDE)
e MASSIz=MEs8 (2 &HH)
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
ALS S X 43,866,472 36,797, 148 7,069,324
= 23,238,060
Xl 246,194
= 4,155,839
Al 16,226,379
20| ZMEB ST (AISEX /I ZMES A 17,269,513 13,861,674 3,407,839
= 13,685,147
o 1,669,315
Al 1,915,051
MASESIZNEBSE 17,269,513 13,861,674 3,407,839
= 13,685,147
o= 1,669,315
Al 1,915,051
NASES £SHEH XY L A2 nEH XS 107,940 102,560 5,380
301 et A= 107,940 102,560 5,380
01 Ml EXEE 2562 107,940 102,560 5,380
OMASE =8t el X 43,740
— N EsHM 200,0008 » 135X 27,000
— Z&M 100,000& * 110Y¥ 11,000
— X ESHM 70,000€ = 824 5,740
OAEe nEH X 64,200
— NESHM 300,0008 » 119H 35,700
— =&t 300,000& * 95 28,500
E2SFHISHIRSXH 40,800 36,965 3,835
301 et A= 40,800 36,965 3,835
01 M| EXEE 2562 40,800 36,965 3,835
Oz 2SS 3sdI)I2 A
5,000 ~ 680MICH ~ 12&€ 40,800
ZOJZMEERZHXA(Z) 16,546,048 12,666,490 3,879,558
= 13,236,838
= 1,654,605
Al 1,654,605
301 et A= 16,546,048 12,666,490 3,879,558
= 13,236,838
& 1,654,605
Al 1,654,605
01 Al B & A 262 16,546,048 12,666,490 3,879,558
OMAZS N 244 042¥ = 5,650 * 128 16,546,048
= 13,236,838
& 1,654,605
Al 1,654,605
20| ZMEBE DESSHX(Z2IIAEXH) 78,928 0 78,928
308 XX SHHSOIH 78,928 0 78,928
08 W=sJl&otistE = 78,928 0 78,928




2N
X ZH -
(= B R )

el

Ab3l = X1

=

Off &t 24

=

i
2m

78,928

= H W

106,357
85,086
7,445
13,826

,028

A12,671

= M W

106,357
85,086
7,445
13,826

,028

A12,671

604,300& » 176€¥

= W

106,357
106,357

85,086
7,445
13,826

,028

A12,671

0x
4r
02
i3]
ok
e
-
{0
H

Z W

354,440
341,723
3,815
8,902

327,

140

27,300

Z W

354,440
341,723
3,815
8,902

327,

140

27,300

168,300& = 2,106¥

= W

354,440

354,440
341,723
3,815
8,902

327,

140

27,300

= MW

35,000
21,500

3,450
10,050

129,

342

N94,342

= Hn

1,800
900
270
630

,692

A 114,892

04 DIt 22 XS+
OSE At 22l At =F 0t

200,000& » 3F = 32

= M W

1,800

1,800
900
270
630

,692

A 114,892

= M W

5,700
2,850

855
1,995

,150

550

01 AtR 2t 2l |
OAtell 2t el AL e

apeciia]

5,700,000& = 1

Al
Ay

5,700
5,700

. 150

550




AN ALEI =X
HH: R ZHEEH(AISX/IZHELE)
Al PN
o

gl MNASSI =4 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 2,850
< 855
Al 1,995
301 L2 A= 7,500 7,500 0
= 3,750
< 1,125
Al 2,625
01 MEI2EZE 405z 7,500 7,500 0
OAtedl Z2telCH &R I 300,000& = 2594 7,500
= 3,750
< 1,125
Al 2,625
307 21201 A 20,000 0 20,000
= 14,000
< 1,200
Al 4,800
11T M3 SXAISEEX 20,000 0 20,000
QUZEASHSAEML(ULFEEH)
20,000,000 = 10024 20,000
= 14,000
= 1,200
Al 4,800
FHANS NAMISXN/HAHSKH) 1,729,404 1,926,772 A 197,368
= 192,249
Xl 177,341
< 100,912
Al 1,258,902
HAANSX 2 1,729,404 1,926,772 A 197,368
= 192,249
Xl 177,341
< 100,912
Al 1,258,902
FHAANS XA 202,990 240,310 A 37,320
201 L2l 17,170 24,740 ANT,570
01 At 22l 4,800 18,800 214,000
OAtell 22l 2ER3s 4 =&
0,000& * 6% 2,100
OSL=RKNAC CHUHMN £ EE2E2 ME
500,000 2,000
Qo022 AlDl MASIRE BA &g
70,000& = 109 700
02 2324l 12,370 5,940 6,430
O=SXUHAR MblA 2EHSXA e-Jd2RE 2
= 6,430,000& * 14 6,430
OZ232R2= 1,800
— Zt2lAH 2 AL HIIALEZ
150,000& » 12& 1,800




3= X
AAHE NE(AS=R/FHAAHEXH)
SAHS K

K- B8 S2(3H) - HSAY - B2 o A o SSa H RS2
OAI&&H|l X4 1,200
— 22| Ab 600,000& * 1JH A 600
—52354 600,000& * 1JH A 600
OLABSA(H2IYAN) HHH(RF)
14,000& * 210 2,940
301 dEtE A= 158,000 158,000 0
01 AL B & X %352 148,000 148,000 0
OXtaAHS A
100,000& = 115MICH = 12& 138,000
OMASSE AFE=EAAME LA N
400,000& * 2501+ 10,000
11 IIEtE A2 10,000 10,000 0
Oz A2 "z=2 10,000,000& * 1H 10,000
307 QI2t0| ™ 27,820 57,570 N29,750
01 2L R = H| 27,820 22,570 5,250
o2 #*s 300,000& * 509 15,000
O#dAX 25 20,0008 * 10 = 12& 2,400
ORo & #HAX HSHEE 2= b
100,000& * 20 2,000
OdHAANS X EHBI 1,000,000& = 6= 6,000
OZANESA(ACIYA) 2949 2,420
=r s 6,000 * 241 » 18 » 1002 1,200
— &332 80,000& * 6% 480
— I =4l 40,0003 * 4¥ x 43| 640
—MEE(HS, Y S) 20,000& = 53] 100
AANE SXSE 60,580 73,940 A 13,360
201 et A | 16,580 30,940 AN 14,360
01 AFR22t2l Y] 16,580 30,940 A 14,360
OXSASISXIHE EOtA Q1A
10,000& * 2002 2,000
OdXtE XNGMSI=SXHE AMBHE ol
10,000& * 2005 2,000
OMII=EX L B2 RS A4 H&
50,000& * 504 2,500
OXNAANSEHEAM /& =Y
70,000& » 36Y * 43| 10,080
203 ¥R =&H| 1,000 1,000 0
03 A =X SR =AH| 1,000 1,000 0
OMII=EX 2F =& 1,000,000& = 14l 1,000
207 S OH | 5,000 5,000 0
01 A2 E49Y| 5,000 5,000 0
Q2017 AXE X HAIE =X Al HE &2
g4 5,000,000& * 14 5,000

_4_




SN ALSI S X
HH: FHAHYS N (ASSX/FHSEHSKHA)
el HH ST (29l & 2)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
307 2Iztol ™ 38,000 37,000 1,000
11 AISI S XA E = 38,000 37,000 1,000
OXNE=XU3 10,000,000 * 14 10,000
OXNYGASEZEANM A& 23t
15,000,000 * 14 15,000
OXI Y Arel =Xl AlOILE 2,500,000& = 14 2,500
OX G ALe =2 =X & w 2,500,000& * 14 2,500
Otl2tAg=EX/A32E K& 8,000,000 * 14! 8,000
=X XAE (=) 185,277 332,000 A 146,723
= 148,221
= 11,117
Al 25,939
301 L2 A Z 185,277 332,000 A 146,723
= 148,221
< 11,117
Al 25,939
01 Al EE X =06l = 185,277 332,000 A 146,723
O2da=k XEAY 1,089,864 * 170 185,277
= 148,221
< 11,117
Al 25,939
ABl S X2 S3AIE(E) 18,000 18,000 0
< 5,400
Al 12,600
307 glz2tol & 18,000 18,000 0
< 5,400
Al 12,600
11 ASI S XA E = 18,000 18,000 0
OAMI=SXR& SHALY 18,000,000& * 1JH 2 18,000
< 5,400
Al 12,600
NS MBI AEXAIY (2) 221,677 221,677 0
Xl 177,341
< 13,301
Al 31,035
201 Let24E] 4,000 4,000 0
Xl 3,200
< 240
Al 560
01 At 22l 4,000 4,000 0
OXZGAtsl MHIASETAIY 2|
4,000,000& = 14 4,000
Xl 3,200
< 240
Al 560
307 21201 A 217,677 217,677 0




SN ALSI S X
HH: HONE N (M=X/FHAAENR)
el NS EEREED
L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 174,141
< 13,061
Al 30,475
05 RIZtE = 217,677 217,677 0
OXIGAtal MHIASE XA
217,677,000& * 14 217,677
Xl 174,141
< 13,061
Al 30,475
Mal=X22F 755,668 762,668 AT7,000
307 glz2+ol & 755,668 755,668 0
05 RIZHRI &t 3 755,668 755,668 0
OAMEl=X& 29l 755,668,000& * 1002 755,668
HHOITHE RS &3 10,160 19,030 A 8,870
201 Let2d] 360 480 A 120
02 2324l 360 480 A 120
OMls=Xkt SEEEAIAHE HEI| AAIZB=
30,000& = 12& 360
307 21201 A 9,800 9,800 0
01 22724l 9,800 9,800 0
Oo0IMe 2= 9,800,000& = 14 9,800
SERSANALRFYZHXNR(Z) 10,071 12,500 A2,429
= 3,000
Al 7,071
301 L2 A3 10,071 12,500 A2,429
< 3,000
Al 7,071
01 AR 2Z A 53 10,071 12,500 A2,429
O=gs3A & |5 =H N2
503,550& * 209 10,071
< 3,000
Al 7,071
HAsSE ALBEHEXNAE(Z) 87,600 80,744 6,856
< 43,800
Al 43,800
301 et a3z 87,600 80,744 6,856
< 43,800
Al 43,800
01 AR 2Z A5l 3 87,600 80,744 6,856
OMAsSE d22Egas & FJeLEEE N2
4,000& = 1,8259% » 12&8 87,600
= 43,800
Al 43,800
NAAMSEEREAMS LN (Z) 43,900 30,000 13,900
< 4,217




A AMIEX
B FoE N (MSSX/HAHEN)
el HH ST (29l & 2)
SA BB (SH) - NRAY - B ﬁlgﬁ HRE2
Al 39,683
307 2iz2to| A 43,900 30,000 13,900
&< 4,217
Al 39,683
10 MM SAANEEHESIGHEX 43,900 30,000 13,900
OXNGMIBEHEAM 2IXNE 43,900
— oAy 32,500,000 = 14! 32,500
& 4,217
Al 28,283
—AIR4A 2=z 5,400,000 = 1A 5,400
— AR A 22H (M2 S)
6,000,000 = 1A 6,000
A E2XoA22ASH(E) 4,345 4,345 0
= 869
Al 3,476
202 044 4,345 4,345 0
& 869
Al 3,476
04 =Ml st dl 4,345 4,345 0
OMNSZXBR 29| &t
4,345,000 * 1™ 4,345
= 869
Al 3,476
JI=ZEW3T KAL) 21,000 29,138 A8,138
& 3,000
Al 18,000
307 gizto| & 21,000 29,138 N 8,138
& 3,000
Al 18,000
10 MM SAANEEHESIGHEX 21,000 29,138 A8,138
OJIx=xFcw3y 29 & 21,000
— 294 7,000,000& * 1002 7,000
= 2,100
Al 4,900
i als| 14,000,000 = 1H 14,000
= 900
Al 13,100
KA E S SR 4,000 1,920 2,080
301 et A= 4,000 1,920 2,080
09 #HAIAHI BEAZ 4,000 1,920 2,080
OXEMIEBHEAM 2SN
3,000,000 = 1A 3,000
OBLHH &sX& 1,000,000 = 14! 1,000
SESAtEI Z2IALRI R (2) 89,136 85,500 3,636
= 44,028




SN ALSI S X
HH: FHAHYS N (ASSX/FHSEHSKHA)
el NS CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 13,208
Al 31,900
101 @144 dl 88,056 85,500 2,556
= 44,028
< 13,208
Al 30,820
04 JIZHHZ22XEE S 88,056 85,500 2,556
OSE At Zel At X & 88,056,000 = 14l 88,056
= 44,028
< 13,208
Al 30,820
202 odl 1,080 0 1,080
01 = LH 4 1l 1,080 0 1,080
OS& Arall 22l At 221048l
90,000 = 3" * 43| 1,080
HI O ESMHAEHX2(Z) 15,000 15,000 0
< 3,000
Al 12,000
307 21201 A 15,000 15,000 0
< 3,000
Al 12,000
10 ALSISXAIEEE2GHEX 15,000 15,000 0
OdXuoit 25 X&  15,000,000& * 102 15,000
S 3,000
Al 12,000
MNASE M XN (MIA=EXNDN=UEEH) 1,486,606 1,539,043 A52,437
= 1,051,489
Xl 68,853
< 82,433
Al 283,831
KA 1,486,606 1,539,043 A52,437
=2 1,051,489
Xl 68,853
< 82,433
Al 283,831
NE2Z ALY 21,390 11,380 10,010
201 Let24d] 10,580 10,580 0
01 At 22l 10,580 10,580 0
OZF=XNAREHEH AR X
800,000& = 12& 9,600
OXEIIBEIAM 9IH &g
70,000& * 7H 23] 980
301 et A=z 810 800 10
09 &AL HIZ &S 810 800 10
OXEXE Al&tal FA0H|
90,000& = 9% = 1 810

_8_




2N
X ZH -
L= B

el

SN ZH-SAEA) - MR

A - B

=
i

2

405 TtabH S|

10,000

10,000

10,000

= W

992,683
794,147

39,707
168,829

1,066,451

AT3,768

Z W

211,175
168,940
8,447
33,788

211,391

A 216

A

04 JI2ZtHZ22 s+

=
—_
OozZ22xAd, SN0

NEZ2AMY
211,175,000& = 14

= M W

211,175

211,175
168,940
8,447
33,788

211,391

A216

206 M= Hl

= N W

1,900
1,520
76
304

1,900

01 M=l
OZ22RIE THEIZZAMY

M=
100,000& * 1990 A&

= W

1,900

1,900
1,520
76
304

1,900

307 21201 &

= W

779,608
623,687

31,184
124,737

853,160

AT3,552

&
e
y
40
Jo
oy

@)
>
0z
Bl
i)
o

, MBI EZRCIE THEZZAMY

779,608,000& * 14l

= MW

779,608

779,608
623,687

31,184
124,737

853,160

AT3,552

= M W

224,230
166,961
20,181
47,088

217,700

6,530

307 glz2tol ™

= N W

224,230
156,961
20,181
47,088

217,700

6,530

o
&
e
=
0

224,230

217,700

6,530




Off &t 24

=

i
2m

OXSGXtede 2gHl X
224,230,000& = 100

= MW

224,230
156,961
20,181
47,088

IPANZEE 2 ER0IAE (2)

=

Al

86,066
68,853

5,164
12,049

85,532

534

307 21201 &

X

H

Al

86,066
68,853

5,164
12,049

85,532

534

OJMZtE E=R0/AHY 2,151,650 = 40

Xl

= M

86,066

86,066
68,853

5,164
12,049

85,532

534

= N H

102,476
81,980
6,149
14,347

78,451

24,025

= Hn W

102,476
81,980
6,149
14,347

78,451

24,025

102,476,000& * 14

= N H

102,476
102,476

81,980
6,149
14,347

78,451

24,025

= M

11,760

2,352
9,408

11,760

307 21201 &

M

Al

11,760

2,352
9,408

11,760

b

t

&
e
i~
40
m
oy

O
]
12
>

o

dEH SAL =
140,000& = 7& = 12&

H

Al

11,760

11,760
2,352
9,408

11,760

NeedstmgH XA (E)

tn

Al

25,000

7,500
17,500

15,000

10,000

307 glztol &

25,000
7,500

15,000

10,000




2N

HE: HASS MEOE XN (MISN/IIZMEEE)
CHRl: XHEALY (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 17,500
11T A EXAIEEX 25,000 15,000 10,000
OXNEEHSASH X
25,000,000& * 1002 25,000
& 7,500
Al 17,500
YIS EE(2) 23,001 0 23,001
= 18,401
& 1,380
Al 3,220
301 et A= 23,001 0 23,001
= 18,401
& 1,380
Al 3,220
01 Al E & A 462 23,001 0 23,001
OULI IS SEAY 766,700 * 30H 23,001
= 18,401
o 1,380
Al 3,220
ZoHel EXNESE(AMSEXN/FHNSHSAH) 18,782,763 15,505,581 3,277,182
= 8,309,175
= 1,770,139
Al 8,703,449
ool 2XNs 18,782,763 15,505,581 3,277,182
= 8,309,175
&< 1,770,139
Al 8,703,449
o EXAS XS 224,200 234,700 A 10,500
201 et d| 47,200 47,200 0
01 AP 22| d| 47,200 47,200 0
OXHMAXSXERXN F+&
1,000& *~ 11= * 1000H 1,100
OBASSKY 3T L 02 AE 402
K AMAF =E 70,000 x 6YH = 153 6,300
OFOMAH AIRA dXE X3
600,000 * 128 * 20 A 14,400
OXOMNAUAEHYALAAMNAR L MEBAMI =
= 70,0008 * 6YH = 203 8,400
OQZUHOMZ2 BEXI|P 1Y (2H, SHSE)
2,000,000 = 4= 8,000
OYFC)| - AEF2UHESHH 2dXEs A3
750,000 ~ 12€ 9,000
307 giztol A 177,000 187,500 A 10,500
11T AISIEXAIEEX 177,000 177,000 0
OZE=Z0elolsAtY X
25,000,000& * 1002 25,000




AN ALEI =X
HH: o SXNST(MS=SX/HAAHNEXE)

Sl FOHY =SXBA CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZMA=EXZ 2EAME X
60,000,000& * 1JH A 60,000
OAZEOHCl THE MBIA A
7,000,000 = 10H 4 7,000
O=+=3ts9ddH =3tua 2949
8,000,000& * 1JH A 8,000
OFMe HY Jlzu=s XA
1,000,000& * 209 20,000
OQuEHOML XtE0ISME X
17,000,000& * 13l 17,000
OFMe=R2 Ols=22AY XA
20,000,000& * 14l 20,000
OBUASKD OISHHL 5% 28
20,000,000& =« 14 20,000
S ReImE= DA 5,580 5,600 A 20
301 g2 4= 5,580 5,600 A 20
09 EAAHIE &S 5,580 5,600 A 20
OZOguws HFA OHl X 5,580
—HMHAXNEXN W= A O
90,000& » 31H 2,790
—dojesize s 4 ol
90,000& » 31H 2,790
ZOH QI ALK& 51,460 47,900 3,560
301 et d s 8,460 8,400 60
09 HALAHIEA S 8,460 8,400 60
OZOHQAUHA HA OHl XA 8,460
— e & A 4 0l
90,000& * 324 2,880
— =02 A 0
90,000& * 31¥ 2,790
—ZHAMHESEUHE A Kl
90,000& * 31 2,790
307 21201 A 43,000 39,500 3,500
11T MISRASEX 43,000 39,500 3,500
OFM2 & JE&HA 10,000,000& * 12l 10,000
O Al ZOHQ A3 AL
13,000,000& * 14 13,000
OZFAl O sotSH=sUH
10,000,000& * 12l 10,000
OXHMZEHINHAMS  7,000,000& * 13 7,000
OMZTEMR IS UAIMLAY
3,000,000& =+ 13l 3,000
A sSBINIU XA 2,880 2,800 80
301 et d = 2,880 2,800 80




SH: AS =X D
o DO ZXNSH(MISN/HLHESTER)
ool Zojel 2XNEH (B9 ®R)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

09 HALMHI BN = 2,880 2,800 80

Jb o4l XI&
90,000& = 32%& 2,880

O
M
ro
S
or o
0
N
&
ton
L]

SSEHMHLINZHMAS KA (D) 3,154,578 3,034,517 120,061
2,208,204
227,130
719,244

= MW

301 et 4= 3,154,578 3,034,517 120,061
2,208,204
227,130
719,244

= W

01 MEI2EZE+05l= 3,154,578 3,034,517 120,061
= )

2,230,960& = 1,414 3,154,578
2,208,204
227,130
719,244

= 0 W

==X (IE)Z) 415,591 417,535 AN1,944
290,914

37,403
87,274

= N H

301 Ler2d = 415,591 417,535 AN1,944
290,914
37,403
87,274

= N H

01 A28 H =dl= 415,591 417,535 A1,944
OFM=Z (=) 428,003 * 9714 415,591
290,914

37,403
87,274

=z N W

H =X (Rae) (=) 331,181 374,168 N42,987
231,827
29,806
69,548

= M W

301 2ELE A= 331,181 374,168 N42,987
231,827
29,806
69,548

= M W

01 AR 2&H =063 331,181 374,168 N42,987

OFM=Z(Rta=l) 442 1643 » 7494 331,181
231,827
29,806
69,548

= W

ooz XA (=) 89,081 106,928 AT,847
71,265
5,345
12,471

Z W




EX: A =X
HE: FHe BASH(MSSX/HANET )
Sl Zofel 2XEH CER-ED
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
301 Bt A= 89,081 106,928 N 17,847
= 71,265
& 5,345
Al 12,471
01 Al E & X 462 89,081 106,928 N 17,847
OZofel o 24d X 389,000& * 229%™ 89,081
= 71,265
= 5,345
Al 12,471
OOl KA SHHI K & (=) 185 1,850 A 1,665
2 148
= 11
Al 26
301 et A= 185 1,850 A 1,665
2 148
& 11
Al 26
01 Al B & X 262 185 1,850 A 1,665
OZ0ofel XtH &Hl K& 92,5008 * 2& 185
= 148
= 11
Al 26
ool el XN (2) 190,620 176,580 14,040
= 95,310
= 28,593
Al 66,717
307 212t0| & 190,620 176,580 14,040
= 95,310
o= 28,593
Al 66,717
05 QIZ2tREF 2 190,620 176,580 14,040
OXMA=SA LAl X 4,236,0008 ~ 45H 190,620
= 95,310
& 28,593
Al 66,717
ool LBt AT ALY (2) 378,274 347,571 30,703
= 189,137
& 56,741
Al 132,396
101 2124 H] 378,274 347,571 30,703
= 189,137
& 56,741
Al 132,396
04 JI2ZtHIZ22NEE S 378,274 347,571 30,703
OFoILBrd X2l At
18,013,047& = 21H 378,274
= 189,137




AN ALEI =X
HH: o SXNST(MS=SX/HAAHNEXE)

Sl FOHY =SXBA CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 56,741
Al 132,396
FHAESXA(FI2Y) (=) 1,568,882 1,640,664 AT1,782
= 1,098,217
< 141,199
Al 329,466
307 glz2tol & 1,568,882 1,640,664 AT1,782
= 1,098,217
< 141,199
Al 329,466
05 RIZIRI & 3 1,568,882 1,640,664 AT1,782
OFMe &= XA (HIY)
1,565,269,000& * 14 1,565,269
= 1,095,688
= 140,874
Al 328,707
OZSSHMHAESEXRINMSH
3,613,000& * 14 3,613
= 2,529
< 325
Al 759
ZOOtsSHEXZ(2) 225,188 238,156 A 12,968
= 157,634
< 20,266
Al 47,288
307 glz2tol & 225,188 238, 156 A 12,968
= 157,634
< 20,266
Al 47,288
05 RIZHRI & 3 225,188 238,156 A 12,968
OZOoOtE MExz 2,251,880% = 100 225,188
= 157,634
< 20,266
Al 47,288
ZOHQITHEE R 2R (2) 3,012 2,771 241
= 2,409
< 181
Al 422
301 et a s 3,012 2,771 241
= 2,409
< 181
Al 422
01 MEIBEE 253 3,012 2,771 241
OO MHEEEXI|+ WS 200,808 * 15H 3,012
= 2,409
= 181
Al 422
ZJOHOISE2MAESXIA(2) 4,800 7,680 A2,880




2N
DM SNBSS (MESI/HAAHSKIH)

el

X ZH
S =

Akl = X1 ot

i =S

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
= 3,360
< 432
Al 1,008
301 LEtE L= 4,800 7,680 A 2,880
= 3,360
< 432
Al 1,008
01 MEIBEZE+05l= 4,800 7,680 A 2,880
OXMOISER Melag XA
960,000& = 5H 4,800
= 3,360
< 432
Al 1,008
FHSSHMANE2IE (=) 5,770 5,637 133
= 2,885
< 865
Al 2,020
301 LEtE A= 5,770 5,637 133
= 2,885
S 865
Al 2,020
01 MEI2EZE+06l= 5,770 5,637 133
OXMESSHAMNE 29 KA
57,700& = 1009 5,770
= 2,885
< 865
Al 2,020
HEZOHQ ESLHIEXNA(S) 5,000 7,000 A 2,000
= 3,500
< 450
Al 1,050
301 gEtE 4= 5,000 7,000 A2,000
= 3,500
S 450
Al 1,050
01 MEI2EZE 406z 5,000 7,000 A2,000
O&ZHel E4HIE XA
1,000,000 * 5% 5,000
= 3,500
< 450
Al 1,050
SHEZOHQIFE HEAL () 11,400 10,286 1,114
= 5,700
< 1,710
Al 3,990
402 RI2EX=01 M 11,400 10,286 1,114
= 5,700
S 1,710

[e)}
|




2N
X ZH -
L= B
el

AFEI= X B
HOHOl SXNSH(ASIZX/HAHSL)
ool SXNSH

SN BA(SA) - MRAY - BES

Off &t 24

=

i
2m

Al

3,990

,800,000& = 30 &

= Hn

11,400

11,400
5,700
1,710
3,990

10,286

EENENHESENEEEIEY

0

2,632,000

2,632,000

401 AIEHI L 2CHYI

2,632,000

2,632,000

01 A& HI
OgFANZASE=SA2 AE

2,632,000,000&

* 1

=

2,632,000

2,632,000

2,632,000

= N H

286,000
143,000

42,900
100,100

286,000

402 BI2FX=01 M

= N H

286,000
143,000

42,900
100,100

286,000

01 2I2HXHZ At
(2802)IsEd
192,000,000&

OFMANFAL(BEESH)IISEL
94,000,000

* 1

* 1

Al
Ay

=

= MW

= M W

286,000

192,000
96,000
28,800
67,200

94,000
47,000
14,100
32,900

286,000

0
2
re
jki
i)
=
g
=
x
S|
or
HI
0
H

= M W

31,000
16,500

4,650
10,850

31,000

402 BI2FX=01 M

= N W

31,000
156,500

4,650
10,850

31,000

01 2I2HXHZ At

= 0 H

31,000

31,000
15,500

4,650
10,850

31,000

i
o
0z
2
°
0x
i

r

Hon
[
>
{0
W

H

3,000
2,400

4,200

A1,200




AN ALEI =X
HH: o SXNST(MS=SX/HAAHNEXE)

& Hoe 258 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 180
Al 420
301 et 8= 3,000 4,200 A 1,200
2 2,400
< 180
Al 420
01 MEIBEZE 06z 3,000 4,200 A1,200
OSSO HEHSATANHA X2
1,200,000& * 2% 2,400
= 1,920
& 144
Al 336
OLE T dE=A4EEX HE XA
300,000& = 29H 600
= 480
< 36
Al 84
HFUQIAER2Y (2) 1,648,893 1,775,788 A 126,895
= 1,154,225
< 148,400
Al 346,268
307 glz2tol & 1,648,893 1,775,788 A 126,895
= 1,154,225
S 148,400
Al 346,268
10 AL SXAIEEE2EH EX 1,648,893 1,775,788 A 126,895
OFAUQLYAE 2  1,648,893,000& * 1JH L 1,648,893
= 1,154,225
< 148,400
Al 346,268
HHANEANLL2Y () 3,429,464 3,405,058 24,406
= 2,400,625
< 308,652
Al 720,187
307 21201 A 3,429,464 3,405,058 24,406
= 2,400,625
< 308,652
Al 720,187
10 M2 SXNANEEHE2IHEX 3,429,464 3,405,058 24,406
OZMHAMEAL 2%
1,143,154,660% * 30H A 3,429,464
= 2,400,625
< 308,652
Al 720,187
Stell ol 2 2el At () 332,736 338,692 25,956
= 232,915
< 99,821
307 21201 A 332,736 338,692 A5,956




2N
DM SNBSS (MESI/HAAHSKIH)

el

X ZH
S =

Akl = X1 ot

i =S

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 232,915
< 99,821
10 ALSISXAIEEE2EHEX 332,736 338,692 25,956
OBtMMEAL 2% X2
332,736,000& = 1004 332,736
2 232,915
< 99,821
SEZHATMSNRLESY AL () 166,825 156,825 10,000
< 33,365
Al 133,460
307 glz2+ol & 166,825 156,825 10,000
< 33,365
Al 133,460
05 RIZtE = 166,825 156,825 10,000
OZSTHMY NHABAME 23
166,825,000& * 1JH 2 166,825
< 33,365
Al 133,460
ASISTAE ST (Z) 66,960 66,960 0
< 13,392
Al 53,568
307 glz2tol & 66,960 66,960 0
< 13,392
Al 53,568
10 AL SXAIEEE2EH EX 66,960 66,960 0
OAZIEXIAIE e+
100,000& * 43" » 123 51,600
< 10,320
Al 41,280
OMEIEXIAE HB=E
40,0003 = 328 « 123 15,360
= 3,072
Al 12,288
HOHUEXAL SAR +2(E) 223,440 211,532 11,908
= 44,688
Al 178,752
307 glz2tol & 223,440 211,532 11,908
< 44,688
Al 178,752
10 AL SXNAIEEE2EH EX 223,440 0 223,440
OFMA=XRAE BSAR =&
140,000& * 133¥ * 123 223,440
< 44,688
Al 178,752
MESTALL AT AL AT (E) 2,550 2,550 0
= 765
Al 1,785




DABIEX D
B OO ZXNSE(ASI=X/HAAHS
2l FOHY SN

X&)

i =
SN B SR(EH) - MBAY - BES e
307 21201 & 2,550 2,550
< 765
Al 1,785
ARSI S XA E X 2,550 2,550
OMBISTAELAT ALHE X2
15,000& » 170 2,550
=) 765
Al 1,785
ASISTAELLTEAX R (Z) 2,550 2,550
< 765
Al 1,785
307 21201 & 2,550 2,550
< 765
Al 1,785
1T MEISETAIEE X 2,550 2,550
OFMQAANSAAT SAH X2
15,000& » 170 2,550
=) 765
Al 1,785
TSN SAHEHSIEXA () 104,095 104,095
< 20,819
Al 83,276
307 glz2tol & 104,095 104,095
< 20,819
Al 83,276
10 A SANAIEHISSHIEX 104,095 104,095
OZOMRATIII=E XN SAHEH 29
104,095,000& = 1JH A 104,095
< 20,819
Al 83,276
ZUUFUESAERI(T) 266,000 170,435
< 53,200
Al 212,800
307 glztol & 266,000 170,435
< 53,200
Al 212,800
10 AL SXAIEEE2EHEX 266,000 170,435
OHMA=AESANE 29
133,000,000 = 200 A 266,000
< 53,200
Al 212,800
ANZZHASEEXN22E () 841,984 841,984
< 17,500
Al 824,484
307 glztol & 841,984 841,984
< 17,500
Al 824,484
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2N
DM SNBSS (MESI/HAAHSKIH)

el

X ZH
S =

Akl = X1 ot

i =S

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
05 RIZHRI & 3 841,984 841,984 0
OAlZ Zoese=sia 29
841,984,000& * 1JH A 841,984
< 17,500
Al 824,484
FOHAMEEMEHESYE(Z) 132,603 123,106 9,497
< 26,521
Al 106,082
307 glz2tol & 132,603 123,106 9,497
< 26,521
Al 106,082
10 M ZXNANEHI2IHES 132,603 123,106 9,497
OFelaRELH 29 XA
132,603,000& * 1JH 2 132,603
= 26,521
Al 106,082
A SHHH2I(Z) 165,000 147,471 17,529
< 28,050
Al 136,950
307 gl2tol & 165,000 147,471 17,529
< 28,050
Al 136,950
10 M3 SXNANEHI2IHEX 165,000 147,471 17,529
O=xstEsddy 299 165,000,000 * 1JH 2 165,000
< 28,050
Al 136,950
SIS EALQABEXA(T) 17,897 17,897 0
< 5,369
Al 12,528
307 212tol ™ 17,897 17,897 0
= 5,369
Al 12,528
11 AISI S XA E = 17,897 17,897 0
Os0tel ss4dERd 25 NE
5,965,666& * 3H 17,897
< 5,369
Al 12,528
ANHFHAXNZAHSS(Z) 109,433 106, 666 2,767
< 21,833
Al 87,600
307 glz2tol & 109,433 106, 666 2,767
< 21,833
Al 87,600
10 M EXNANEEHE2IHE=S 109,433 106, 666 2,767
OXNHEMAXNALE 2
109,433,000& * 1JH 2 109,433




2N
X ZH -
L= B

el

Ab8l = X Bt
ZOHQ ZXNBE(AMSZX/HANSNA)
ool SXNSH

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 21,833
Al 87,600
ELSINHASTHCIZIESH KR (E) 7,653 7,653 0
o 2,296
Al 5,357
301 Bt A= 7,653 7,653 0
= 2,296
Al 5,357
01 AR E & A 462 7,653 7,653 0]
OExsn MASHEOM 2+ESH XS
450, 176% = 7Y 7,653
= 2,296
Al 5,357
ZOHCIMATHEAN E2H(T) 291,048 255,224 35,824
= 53,553
Al 237,495
307 S12t0| & 291,048 255,224 35,824
o 53,553
Al 237,495
10 M SXNAEEHESIHEX 291,048 255,224 35,824
OXEMNRUXNATHEAIE 24
291,048,000& = 1JH 2~ 291,048
== 53,553
Al 237,495
ZOHQIEHOAIAS XX () 102,000 102,000 0
= 17,000
Al 85,000
307 212t0| & 102,000 102,000 0
o= 17,000
Al 85,000
11 A EXAIEEX 102,000 102,000 0
OXMZOHQ THOALHMAEH 2
102,000,000& = 1JH A 102,000
= 17,000
Al 85,000
ool sEX = N (E) 26,600 38,000 A 11,400
o=} 7,980
Al 18,620
307 212t0| & 26,600 38,000 A 11,400
=} 7,980
Al 18,620
05 QIZ2tRE 2 26,600 38,000 A 11,400
OFMessEXx =) N
2,046,150 * 13Y¥ 26,600
= 7,980
Al 18,620
ZHOHQIMEAIE KR () 16,510 13,000 3,510

- 22 -




©AbE =X Bt
DEOHY SXNEA(MEZX/HAHENR)
DB =2XBA

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
< 4,953
Al 11,5657
307 glz2tol & 16,510 13,000 3,510
< 4,953
Al 11,5657
11T M SXASEEX 16,510 13,000 3,510
OZMALHAE MEIA X2
130,000& * 127X 16,510
< 4,953
Al 11,5657
ZOHANFAER2Y(Z) 780,035 452,400 327,635
< 156,007
Al 624,028
307 glz2+ol & 780,035 452,400 327,635
< 156,007
Al 624,028
10 ALl SXAIEEE 2 H EX 780,035 452,400 327,635
OZOMANZFAIE 2L (M)
260,011,660& * 30 2 780,035
< 156,007
Al 624,028
ZOHIHNZ=AIE0ENA AN () 3,500 3,000 500
< 1,050
Al 2,450
307 glz2tol & 3,500 3,000 500
< 1,050
Al 2,450
11T M SXRAISE EX 3,500 3,000 500
OFMANF=AIL OIEX A D=
583,330& * 6014 3,500
< 1,050
Al 2,450
ZOHAIAHAFANER2S(S) 181,690 125,835 55,855
< 36,338
Al 145,352
307 gl2tol & 181,690 125,835 55,855
< 36,338
Al 145,352
10 AL SXNAIEEE2EH EX 181,690 125,835 55,855
OXMAHIN=AE 2Y
181,690,000& * 1JH £ 181,690
< 36,338
Al 145,352
OISR AL (Z) 215,345 124,334 91,011
< 63,159
Al 152,186
202 4l 4,345 0 4,345

_23_




AN ALEI =X
HH: o SXNST(MS=SX/HAAHNEXE)

ool Zojol =XNSA (sl &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 869
Al 3,476
04 = W &t 8l 4,345 0 4,345
OHMA=XNE2 LM DX A
4,345,000 » 1H 4,345
< 869
Al 3,476
307 glz2+ol & 210,000 124,334 85,666
= 61,990
Al 148,010
11 ASI S XA E = 210,000 124,334 85,666
OUSAIDAEHEH 29 & OlsXEAS
0,000,000& * 1JH 2 80,000
< 20,000
Al 60,000
OMItEe ZFEH 20 29
35,000,000& * 10H 2 35,000
= 6,990
Al 28,010
OUFBIQ SEHALY 29
25,000,000& * 1JH 2 25,000
< 5,000
Al 20,000
OXNMEHAHANSXNIEH 23
50,000,000& * 1JH 2 50,000
= 10,000
Al 40,000
OOl AESSAANGHEH 24
20,000,000& * 102 20,000
< 20,000
401 Al HI 2 2B 1,000 0 1,000
< 300
Al 700
01 A& HI 1,000 0 1,000
Os0t S8 A MSH I X &AL
1,000,000& * 14! 1,000
< 300
Al 700
HANQAAL LA AEL (Z) 11,050 11,050 0
= 3,315
Al 7,735
307 2I2t0l A 11,050 11,050 0
= 3,315
Al 7,735
11 ASISAAISEE X 11,050 11,050 0
OFMQQIANELAI dAtF XA
65,000& = 1709H 11,050
< 3,315
Al 7,735

_24_




M AR =X
HE: Zoje SNEH(MESN/HLHEST)
& Hoe 258 (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
St 2L X JAA (Z) 17,220 20,610 A 3,390
< 3,486
Al 13,734
307 gl2tol & 17,220 20,610 A 3,390
< 3,486
Al 13,734
10 AL SXNAIEEE2EH EX 16,800 0 16,800
OBt MEANE SAL =2
140,000& » 10 » 128 16,800
< 3,360
Al 13,440
1 ASISXAS R 420 20,610 £20,190
OBHMIMEAIL AAT ALBEH L 2AY
30,000& = 149H 420
< 126
Al 294
IVEE 22(AEN/EE) 2,851,821 1,636,100 1,215,721
= 533,040
Al 2,318,781
282X 2,851,821 1,636,100 1,215,721
< 533,040
Al 2,318,781
S2CH 2 AlE2el 410,621 333,100 77,521
201 2et24d] 80,240 50,640 29,600
01 At 22l 25,000 33,600 A 8,600
oZ=3d 2l 2,000
—Z4=23) EES MH
5002 * 2& « 1,00004 » 23| 2,000
OEsHH MR Xtz X
50,0003 * S5OHEHA » 12 15,000
OEEAMNE(EEE) =2 FHI
6,000,000& = 14 6,000
OEEANL(EEE) it &1
2,000,000& * 14 2,000
02 =224l 240 17,040 A 16,800
OFEE HIIANEZ 20,0008 * 12& 240
03 A2 S HI 55,000 0 55,000
O8&EY =8 A 30,000,000& * 13l 30,000
O6.258 At 25,000,000& = 13 25,000
206 = Hl 640 1,160 A 520
01 M2 4l 640 1,160 A 520
OSSANE =HEZFHE EH £ 4E 7 640
- %5 30,000& * 4& = 33 360
&3 20,000& = 78 * 23l 280

_25_




SN ARSI =X B
HM: 2B E 2 (AEIE2X/EB8)
ool PEBUNA CERED
2 S 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
301 Bt A= 48,240 2,800 45,440
09 HAIAHI EAZ 48,240 2,800 45,440
OB&ESAI 23 A 0yl 90,0008 *» 31H 2,790
Os=2829 & ZEZX 2 (2E4AH)
10,000,000& = 14l 10,000
OBEUHAXN BEX = (EE4H)
10,000,000& = 14l 10,000
QY EANN =2 L B oA XN (Y
PSPSE=E=PR=E-1p| 3,000,000& = 13| 3,000
O6.2&BMFE2X =2 Y 2 oAl HAWNE(6
BEXMNSZDHLRF]) 7,000,000& = 13| 7,000
O6.2582 % & Z2IOIBEHAA d&EX =d
2,000,000& = 1Al 2,000
OSE2sIt ¢ g8 A
2,400,000& = 1Al 2,400
O0|=5%01 s &FA o4
90,0008 * 45%H 4,050
OY9F=ANMEZOE s8N K&
5,000,000 = 13| 5,000
Os=2=3d4 22 s HE A
2,000,000 = 13| 2,000
307 gizto| A 235,501 226,800 8,701
02 QIZ2IA AAIE B X 15,000 0 15,000
OlistE=d 9AILE 282t X
15,000,000& = {14l 15,000
05 QIZtRES 78,301 0 78,301
OUstZEC)| 222 294 XN
78,301,000& * 100 A 78,301
10 MM SAANEEHESIGHEX 119,000 107,000 12,000
OB E4EH 29H NKA(BEX8 HNM)
3,900,000 * 4%tHl * 42 D] 62,400
Ozx=s dx==23shg 29 NHd(2exs A
o) 1,500,000 * 427] 6,000
O6.25&28KEX3 A=AKaE 22U N (2
g M) 3,900,0008 = 42| 15,600
OIS 2Xa EFANE 29 N2 (2
28 HNH) 2,500,0008 * 42| 10,000
ODGMAERE IFAKXS 29H XN (EXE
X oH) 2,500,0008 * 42| 10,000
Olistol= E4x42 FR2X3 F=28 24|
Ne(BxXxg HH) 750,000 * 42| 3,000
OYFEA MeEZ203 2%H XN (EX8 HNH)
3,000,0008 = 42| 12,000
11T A EXAIEEX 23,200 119,800 A 96,600
OMdASs E=2UaX /2 XA
100,000 * 42H 4,200

_26_




SN ALSI S X
M 2128 22l (M=K /LE)
ool PEBUNA CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OS2ZEF2H L SAES(HID)
5,000,000& = 13l 5,000
OIF=XNsE 2 MIASMES(DLEHMELE
= AKX E) 4,000,000& = 13l 4,000
OFEet2uns 29 2,000,000& = 14l 2,000
O=2Zd(4gE, 2=F) JIgg8M N 6,000
—&YE A 3,000,000 = 13l 3,000
—Z=Z A 3,000,000& = 13l 3,000
Ostd=EszZ =53 =2 X
2,000,000& = 14 2,000
401 AIEHI L 2CHEI 46,000 0 46,000
01 A& tl 46,000 0 46,000
Ootlistz=c J1g3d 2el 46,000
—xZ ¥ 0lAEY 30,000,000& = 14 30,000
— & =52 &X 6,000,000& * 14 6,000
— 233 JdEELE 10,000,000& * 14 10,000
BRSNS (Z) 902,400 979,200 AT76,800
< 170,040
Al 732,360
301 et a = 902,400 979,200 AT76,800
< 170,040
Al 732,360
01 MEIBEE 263 902,400 979,200 AT76,800
OFEERIBX Hil=<
0,000& = 1,220 » 12& 878,400
< 170,040
Al 708,360
ORI A2
200,000& = 108 = 12&€ 24,000
B+ 332,800 323,800 9,000
301 et a = 332,800 323,800 9,000
01 MEIBEE 053 332,800 323,800 9,000
Osdi=¢ XN& 332,800
—E2EUaR Zoxg
50,0003 = 538H = 123 322,800
— SR AZRIZZ 200,0003 * 50H 10,000
IFEANESEEHE (Z) 1,200,000 0 1,200,000
< 360,000
Al 840,000
401 Al HIZ 201 I 1,200,000 0 1,200,000
< 360,000
Al 840,000
01 A& HI 1,178,500 0 1,178,500
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SN ALSI S X
= JNEE 22 (MI=EX/BEE)
ool PEBUNA CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oz=g 4= 4 a0
1,178,500,000& * 14l 1,178,500
= 353,550
Al 824,950
02 Zeltl 17,000 0 17,000
Oz2g 4% Y FuEY
17,000,000& * 14 17,000
= 5,100
Al 11,900
03 Al 2 THHI 4,500 0 4,500
OB=2g M= o =HIY 4,500,0008 * 14 4,500
< 1,350
Al 3,150
SHEEHMMNELXR(Z) 6,000 0 6,000
< 3,000
Al 3,000
307 21201 A 6,000 0 6,000
< 3,000
Al 3,000
11T MISXASEEX 6,000 0 6,000
OF=ole UM EY S8YRs
6,000,000 = 14l 6,000
< 3,000
Al 3,000
HY2AZHI (A =X (I1EH/IIEH) 198,104 190,875 7,229
el 2l 31,202 33,765 A 2,563
ol 2AH| 31,202 33,765 AN 2,563
101 1244 Hl 31,202 33,765 N 2,563
03 RIAHAZ 212+ 31,202 33,765 N 2,563
OLAESA(HelYA)2el 2l 31,202
—Jl=s 1,146,960 * 1H » 123 13,764
— &0 1,146,960& * 400% * 1 4,588
— S E S0t
1,146,960& » 75% » 1% * 23| 1,721
—N22RLY
8,931&  150% * 15AI2 » 1H » 128 2,412
—pYuaRLy
71,4483 * 150% * 19¥ » 50 5,359
— s esI=Y 71,4483 « 1H » 12¢ 858
— ZAg A 100,000& » 198 = 12& 1,200
— WS 2Ll 100,000& » 18 = 128 1,200
— o=l 100,000& = 1Y ~ 1€& 100
JlE &3l 166,902 157,110 9,792
JlE&l 166,902 157,110 9,792
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AN ALEI =X
A HHE2H AU (A= X2 (I1EHIIE

@2 Jl2&tl (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
201 Bt A | 33,102 31,710 1,392
01 AP 2t 2l Yl 33,102 31,710 1,392
OSAIEX #¢ 15,000& * 312tA x 12& 5,580
OSEZ20Aaldl 6,000& * 64 » 314 = 12& 13,392
Ogte2 100,000& * 128 1,200
O =7 50,000& = 12& 600
O =44 10,470
— 2A #2(4A¥) 500,000& = 2CH 1,000
—Z2E %2 100,000€ * 5CH = 50/100 250
— 2A EY 200,000& = 53] = 204 2,000
— D2 EU(E8) 200,0008 * 53 * 504 5,000
— T2l EH(Ze2t) 200,0008 x 53 = 1CH 1,000
—PC =2l 100,000 * 31CH = 20/100 620
— J|EF #=2lH]| 50,000& = 12& 600
OJIEF AFR 22| 5,000& * 3198 « 12& 1,860
202 O B 128,340 120,000 8,340
1 = LH 4 B 128,340 120,000 8,340
OAIZI EX 1 SR=X04H| 128,340
— ZtLH O B 20,000& » 319 * 12 » 12& 89,280
— 2204 Hl 90,000& *» 31 = 14 39,060
203 YR =&H| 4,260 4,200 60
04 ENSHLRF=XH| 4,260 4,200 60
ORANSELERF=AH| 355,000& = 128 4,260
204 Z LAY 1,200 1,200 0
01 S HR-HAY| 1,200 1,200 0
ORI A2 AHAY| (Al =X W E)
100,000& = 1 = 12& 1,200
WRES (MBS (ASSX/IZHELSH) 1,548,261 2,137,103 588,842
WEHAH X = 1,548,261 2,137,103 N 588,842
WEAHHX = 1,548,261 2,137,103 N\ 588,842
1JIEtSIH ST E2 1,548,261 2,137,103 N 588,842
01 JIEtSI HE &= 1,548,261 2,137,103 N 588,842
O2A=230II2SE3H d&E3(NLHEEH)
1,539,861,000& * 14 1,539,861
Oz acMN = 8,400
— @E FItHI
1,200,000 * 2% * 75% * 23] 3,600
— A ZAH| 100,000& * 29 = 128 2,400
—nWEEXH| 100,000& * 29 x 12& 2,400
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